[20 points] 3
3. Determine the interval of convergence of the power series

(o] 2TL .
;5”(—3)”
\ n "
; \ 5
"’ V(2 S y
| o i
— v (F2)
| e \er e A L 1C \ F‘,—.f_—’\:?,\lt‘
- — = b = — v
L/ - A ow o | (/3 " S
e lal moaw | 2 n M T
el -
| + (-2 \(/
5) !

o led  coAveges.
DI Ix<S  Men L< L ad T gower sane ;
; | e pee s YIRS
@}p |)(\>§ , M \_> 1 e

~ \
5 z 2" I (g 5«_ -
= —_— N "o N |+ (-=
¥X= g T Z 3 b Fey T Cs)
rAZoO hzs CL‘W " O/l\eh ’}{_;S
' 2
] _ A+ tha  pones fefey Y,
Pnce \M /? \) N Tepm Lest
y\ﬁoQ l"’ g’) (
o)
o a n o = -2 (
g _/%\,_/—mzww,
& A= T — :7 g’",\/cfa)n — 4/(/%3
* [ s hz O
N ( : v oexst
\g}\' \M "//1’/3-—»\ = /1 '7[_ 0) \‘ﬂ\ (:/l)y‘. /—i‘v\ 4'Oe/) s
ni, Y\ A A | + ’/‘T) N /l,“’( )

e Tes k.
l’\’@v\ce, M ?Ovv'e/ sered c\«\/(e,fﬁu b\/l\t,\ %~,§ L. m T@M\ <€)

—

2 J

—_—

o [S SY.
The Wenal QQ OOf\\fefyémw/O«PMfW senef S C 1,>.

2 /



